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	Student literacy sheet
Name		Class		Date	
[image: Pen Icon] Atmospheric pollution
Learning outcomes
After completing this worksheet, you should be able to:
recall how atmospheric pollutants are produced
describe the effects of atmospheric pollutants on the atmosphere.
Task
Read the following passage and then answer the questions that follow to complete the puzzle.
Atmospheric pollution occurs when harmful chemicals are added to the Earth’s atmosphere. Some atmospheric pollutants are produced by natural processes whilst others are caused by people (man-made). Sulfur dioxide can be released by volcanoes or produced when fossil fuels that contain sulfur, such as coal, are burnt. This gas can react with rainwater to form sulfuric acid, which can damage trees and aquatic life.
Nitrogen oxides or NOx are made when nitrogen reacts with oxygen. These molecules contain very strong bonds and the reactions only take place at very high temperatures. Nitrogen oxides can produce acid rain and can trigger asthma attacks in people. They can be produced during lightning strikes or when plane or car engines get so hot that the oxygen and nitrogen in the air react together.
Most fuels contain carbon, so when these fuels are burnt in a good supply of oxygen carbon dioxide is produced. Most scientists believe that this gas contributes to climate change. When fuels are burnt in a poor supply of oxygen, the gas carbon monoxide can be produced. This is a toxic gas that binds with the haemoglobin in red blood cells that normally carry the oxygen molecules required for respiration.
Diesel engines produce particulates. Diesel molecules are bigger than petrol molecules and require a good supply of oxygen to burn completely. If complete combustion does not occur, then tiny solid particles containing carbon and pieces of unburnt hydrocarbon are produced. These are called particulates. Particulates may cause health problems as they are small enough to pass across cell membranes. They may even cause cancer. Particulates can travel high into the atmosphere and then cause global dimming when they reflect sunlight back into space and prevent it from reaching the Earth’s surface.

Across
3	This element is found in fossil fuels such as coal.
6	A gas in the air that has very strong bonds within its molecules.
7	A health issue that can be triggered by nitrogen oxides.
8	This gas reacts with carbon to produce a gas that is linked to climate change.
10	The type of blood cells that transport oxygen around the body.
12	Substances that have been made by people not by nature.
13	These gases are known as NOx.
14	A disease that may possibly be caused by particulates.
15	_____ dioxide gas is produced when fossil fuels burn in a good supply of oxygen.
Down
1	_____ fuels include coal and oil.
2	A problem that most scientists believe is partly caused by carbon dioxide.
4	An environmental problem caused by particulates. 
5	Harmful chemicals that have been added to the environment
9	A fuel produced from oil that has longer molecules than petrol does.
11	These may cause global dimming.

	
[image: add2 OS:Users:add2:Desktop:PRIORITY 2:AQA Chemistry Literacy sheets:PNG:oxo_AQA16_C1305_ls01_awfg01.png]	(15 marks)



© Oxford University Press 2016     www.oxfordsecondary.co.uk/acknowledgements
This resource sheet may have been changed from the original.	1

image1.png




image2.png
11

14

15





image3.png
AQA Chemistry .

GCSE




